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The figures in the margin indicate full marks
Jor the questions

. OO fia] foér epR S famr ;. 1x8=8
‘Answer the following as directed :
(a) T IO SRR SRy Re = ?

* Which' of ‘the following is not a subject-
matter of macroeconomics?

() s i
Increase in the aggregate price level
@ e 4 s R
Increase in demand for a particular
commodity
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(b)

(c)
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(2)

(iii) SRYS T
Aggregate production
(iv) 9o SRR P PR =|
Total employment rate of an economy

(om Seaor AR Tereat )

( Choose the correct answer )

mfw S @IS GNP

"During mﬂatlon, the nonnnal GNP is

(i) 2FS GNPSF ¥ -
less than real GNP

(i) 2FS GNPOF ST B
more than real GNP

(i) 2FS GNPY 5+ =]
equal to real GNP
(o Tt AR Bftear )

( Choose the correct answer )

-

oA SEY oARe R W weiar e R
@&l ? '

What do you mean by leakages and
injections in a circular flow of income?

(3)

(d) R TR T SfOYRD T

The basic assumpuon of Keynesian
theory is

() o e
full employment

(i) < Ffeets o=

less than full employment

(i) 3 Hyfee @R
over-employment

(iv) ST 418 7=
None of the above
(0% TEI01 IR e )

( Choose the correct answer )

(e) ﬁm«wﬂﬁmmmﬁwﬁm

Write on the Ilimitation of Fisher’s
quantity theory of -money.

() R QWO ARTSNA 2RR ?

Which of the following is a flow variable?
@) R
Investment expendifure

(i) Icws o ,
Budget deficit
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(4) (5)

(iii) RFER 2 L ’ (b) . TS QLIfSe T wE ARTR SR

N Unemployment rate . " Difficulties of estimating national income
(iv) ST B T v ; © . in an underdeveloped country ’
None of the above - : (). il I
(w3 eI R S ) " - Liquidity trap

( Choose the correct answer )

(d) 'W‘WT@ TErPfS o TR R

(9) TR @RS SIF T @A Hyperinflation and its effects

There is equilibrium in the money

market when ‘ (e) Gﬂ'ﬂ R @R WX
() Mp-Mg=0 o Siil-:vnplev Keynesian model of income
(i) (Mp - Mg)>0 : determination
(i) (Mp - Mg)<0 @ TR B o (aRCB1 500 e o) :
S ("o TeacHT A1fR Bfevean ) Answer the following questions (within 500 words
( Choose the correct answer ) each) : : | '
t oo T e R 3. (o) wWOR wRE A e Ridw TR Irm

T TN uF Pige] WBeTF (STl . 6+6=12

What is direct tax multiplie? -
Explain various concepts related to

, : : ' national income and show their inter-
2. we AR R @A SRBR 615 5y G forn relationship.
(af¥zbr 150 g foewo) : 4x4=16 L or
Write short notes on any four of the following o
(within 150 words each) : (b)) R SRy AR W gFg Y w0
' | : 6+6=12

(a) GDP SF Fa

GDP and welfare Xp. the scope and importance o

maecroecoromnics.
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(6)

4. (@) TT-RAMRS &S {2 @ @S 35 Seorm

(b)

5. (@)

(b)
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Tafoets RAcd e 7 Jo-iaiire s o
ARl S 9 | » 6+3+2=11

What is value-added method? In what
ways does it make improvement upon
the value of total output method?
Mention two limitations of value-added
method. g

¥’/ Or

SRE SR 27 T R qme iR vege
S 93T ST 5HN 2RAITS ABERZ HE
fRER @@ doR CcFR, TRe WY SEwe
aedn | - 2+9=11
What do you mean by circular flow of
%ncome? Show the effects of various
-injections and.leakages on the circular
ﬂ?w of income in a four-sector economy
with a proper model.

T AR SR T IR AW R w11

Explai.n the cash balance approach of
quantity theory of money. :

o1/ Or
TR B wrF TR SowrrR B 1 EAke
Rfen sigfermz B & T =111 2+3+6=11

Write the m.eaning and objectives of
monetary policy. What are the various
tools of monetary policy? Explain.

( Continued )

| 6. (a)

(b)

| 7. (@)

(b)
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(7)

() TErHfS SRIPR RO I 40| 4
Elucidate the concept of Inflationary
Gap.

() R Rin wffe e s
ARITPRR IR 901 7
Explain various economic and social
effects of inflation.

5e<{r/ Or

RS W e TErd & 7 vikaEe
TurdifS fEE W TR IR IEPR
HCABA] 41 | 7+4=11

What are demand-pull and cost-push
inflations? Discuss the fiscal measures
to tackle demand-pull inflation.

TR viRM R 7 W T MR 30 =2
R R cram A T TGN T H?
2+6+3=11
What is effective demand? In what way
is it determined? On what grounds is
it criticized?
~-qqq1/ Or

LM @R rE i | aReew Te @eie
Y 9 W, B F LM (¥R TS TR
[/ UF HRR o AL 4 2+7+2=11
Define LM curve. Derive it graphically
and explain the relationship between
the interest rate and income level
with the help of LM curve.
* %k
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